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No model solutions known to exist
Possible solutions shown on next page
Answer 8 is non optimum as result is in box 2 instead of 3
Answer 9 is non optimum as result is negative instead of positive



1 Box 1 2 3 6 Box 1 2
Initial Value 4 3 2 Initial Value - x
Target Value 12 11 - Target Value x+1 -
Steps 3 Steps 3

1 + 1 →3 4 3 8 1 + 2 →1 x+? x
1 + 3 →1 12 3 8 1 Div 1 →1 1 x
2 + 3 →2 12 11 8 1 + 2 →1 x+1

2 Box 1 2 3 7 Box 1 2 3 4
Initial Value 20 15 10 Initial Value 0 0 x 20
Target Value 45 - 35 Target Value £ s
Steps 3 Steps 5

2 + 3 →2 20 25 10 1 + 3 →1 x 0 x 20
2 + 3 →3 20 25 35 1 Div 4 →1 £ 0 x 20
1 + 2 →1 45 25 35 2 + 3 →2 £ x x 20

1 * 4 →4 £ x x £ * 20
3 Box 1 2 3 2 - 4 →2 £ s x £ * 20

Initial Value 5 0 9
Target Value 9 - 5 8 Box 1 2 3
Steps 4 Initial Value 0 x 0

Target Value Yds - Ft
2 + 3 →2 5 9 9 Steps 7
2 - 1 →2 5 4 9 Right steps but Ft in box 2 instead of box 3
1 + 2  →1 9 4 9 1 + 2 →1 x x 0
3 - 2  →3 9 4 5 1 + 2 →3 x x 2x

1 + 3 →3 x x 3x
4 Box 1 2 3 3 Div 1 →3 x x 3

Initial Value a c b 1 Div 3 →1 Yds x 3
Target Value c+2b-3a - - 1 * 3 →3 Yds x 3Yds
Steps 4 2 - 3 →2 Yds Ft 3Yds

3 - 1 →3 a c b-a 9 Box 1 2 3
3 + 3 →3 a c 2(b-a) Initial Value Max(x,y) x y
3 - 1 →3 a c 2b-3a Target Value Min(x,y) - -
2 + 3  →1 c+2b-3a c 2b-3a Steps 2

Ans sign wrong
5 Box 1 2 1 - 2 →1 0 or y -x x y

Initial Value 3 2 1 - 3 →1 -Min(x,y) x y
Target Value 48 -
Steps 3 10 Box 1 2 3

Initial Value 8 or 9 21, 22, 23 28, 29, 30
1 * 2 →1 6 2 Target Value - 21 -
1 + 2 →2 6 8 Steps 3
1 * 2 →1 48 8

3 Div 1 →3 - - 3
2 Div 3 →2 - 7 3
2 * 3 →2 - 21 3
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